
1) (-755) + (-591)

Answer: ____________

2) Solve by factorising 
d2 + 17d + 16 = 0

Answer: ____________

3) Solve by factorising 
q2 - 6q + 5 = 0

Answer: ____________

4) Solve by factorising 
s2 - 14s - 15 = 0

Answer: ____________

5) Solve by factorising 
s2 + 11s - 12 = 0

Answer: ____________

6) Solve by factorising 
f2 - 3f + 2 = 0

Answer: ____________

7) Solve by factorising 
q2 - 16q - 17 = 0

Answer: ____________

8) (-873) + (-676)

Answer: ____________

9) (-264) + (-697)

Answer: ____________

10) Solve by factorising 
d2 + 12d + 20 = 0

Answer: ____________

11) Solve by factorising 
d2 + 5d - 14 = 0

Answer: ____________

12) Solve by factorising 
q2 + 2q + 1 = 0

Answer: ____________

13) Solve by factorising 
f2 - 15f - 16 = 0

Answer: ____________

14) (-187) + (-504)

Answer: ____________

15) 960 + (-701)

Answer: ____________

16) Solve by factorising 
q2 - 10q - 11 = 0

Answer: ____________

17) (-655) + (-236)

Answer: ____________

18) Solve by factorising 
f2 + 8f + 15 = 0

Answer: ____________

19) Solve by factorising 
q2 + 6q - 16 = 0

Answer: ____________

20) Solve by factorising 
d2 - 5d - 6 = 0

Answer: ____________

21) Solve by factorising 
x2 - 11x - 12 = 0

Answer: ____________

22) 770 + (-493)

Answer: ____________

23) (-282) + (-173)

Answer: ____________

24) Solve by factorising 
j2 - 18j - 19 = 0

Answer: ____________
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25) (-253) + (-113)

Answer: ____________

26) 668 + (-734)

Answer: ____________

27) Solve by factorising 
d2 + 9d + 14 = 0

Answer: ____________

28) 495 + (-102)

Answer: ____________

29) (-214) + 451

Answer: ____________

30) (-950) + (-843)

Answer: ____________

31) Solve by factorising 
f2 + 13f - 14 = 0

Answer: ____________

32) (-618) + 578

Answer: ____________

33) Solve by factorising 
s2 + 20s + 19 = 0

Answer: ____________

34) 424 + (-760)

Answer: ____________

35) (-796) + (-758)

Answer: ____________

36) Solve by factorising 
q2 + 20q + 19 = 0

Answer: ____________

37) (-856) + (-350)

Answer: ____________

38) Solve by factorising 
q2 - 2q - 15 = 0

Answer: ____________

39) 686 + (-597)

Answer: ____________

40) (-133) + (-500)

Answer: ____________

41) (-456) + (-527)

Answer: ____________

42) (-741) + (-738)

Answer: ____________

43) Solve by factorising 
j2 + 12j + 20 = 0

Answer: ____________

44) (-439) + 663

Answer: ____________

45) (-317) + 350

Answer: ____________

46) Solve by factorising 
s2 - 2s - 15 = 0

Answer: ____________

47) 545 + (-707)

Answer: ____________

48) 620 + (-545)

Answer: ____________
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49) Solve by factorising 
j2 + 1j - 6 = 0

Answer: ____________

50) Solve by factorising 
j2 - 12j + 20 = 0

Answer: ____________

Total: ___ / 50
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Answers:

1) -1346 2) d = -1 or -16 3) q = 5 or 1 4) s = 15 or -1 5) s = 1 or -12 6) f = 2 or 1 7) q = 17 or -1

8) -1549 9) -961 10) d = -2 or -10 11) d = 2 or -7 12) q = -1 or -1 13) f = 16 or -1 14) -691

15) 259 16) q = 11 or -1 17) -891 18) f = -3 or -5 19) q = 2 or -8 20) d = 6 or -1 21) x = 12 or -1

22) 277 23) -455 24) j = 19 or -1 25) -366 26) -66 27) d = -2 or -7 28) 393

29) 237 30) -1793 31) f = 1 or -14 32) -40 33) s = -1 or -19 34) -336 35) -1554

36) q = -1 or -19 37) -1206 38) q = 5 or -3 39) 89 40) -633 41) -983 42) -1479

43) j = -2 or -10 44) 224 45) 33 46) s = 5 or -3 47) -162 48) 75 49) j = 2 or -3

50) j = 10 or 2
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